£ 230
A BIASTAL(BIES/BZES UL
Hel: 4SEHIAN HIUF N

 RA-FM . O(3) - NRAY - BES | oY JlZy | Hns

EF ! 56,193,262 61,004,826 24,901,564

2 35,304,200 38,830,500 23,526,300

Xl 2,130,000 2,130,000 0

= 18,759,062 20, 134,326 1,375,264

HAACHL (BBES /PSS A 1,826,500 2,326,500 A500,000

ASEHEN BAUY =X 1,826,500 2,326,500 500,000

HADUSYS ILHE DY 1,558,000 2,058,000 A500,000

308 XX EHHISOI A 1,558,000 2,058,000 A500,000

02 FA4+nE2 1,558,000 2,058,000 A500,000

OBANHRHE R4 D82 940,000 1,440,000 A500,000

NEA SMSd XM (SALS/BALS U 2,042,000 2,130,000 88,000

= 1,520,000 1,570,000 A50,000

[ 522,000 560,000 A38,000

MNEA =MAE XI|R8 2,042,000 2,130,000 88,000

2 1,520,000 1,570,000 A50,000

= 522,000 560,000 238,000

UKACH =MHF =X 6,000 44,000 238,000

201 LAY 0 8,000 A8,000

01 AL 22/ 0 6,000 26,000

OsMHZ 983 29 0 6,000 28,000

03 # AL | 0 2,000 A2,000

O=SMANARS Wz L &S N 0 2,000 A2,000

207 & RN EH| 0 30,000 A30,000

01 el gty 0 30,000 A30,000

OZLURT =M 5HEHHE 48 0 30,000 A30,000

CIDEQ( Olft LB BAASHI AA 2A(2 50,000 100,000 A50,000
IINHK )

= 0 50,000 A50,000

[ 50,000 50,000 0

207 o RIHEH| 50,000 100,000 A50,000

=2 0 50,000 A50,000

[= 50,000 50,000 0

01 el RE Y| 50,000 100,000 A50,000

OLIH SAYSWI} AN B 50,000 100,000 A50,000

= 0 50,000 A50,000

[ 50,000 50,000 0

o8y 2 (SALS/0D|) 4,524,460 4,620,760 298,300

= 3,565,000 3,661,300 296,300

[ 959,460 959,460 0

QeEAg R 4,524,460 4,620,760 296,300

2 3,565,000 3,661,300 A98,300

[ 959,460 959,460 0
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FA: 83
HE: Qgd B (#FES/UDI)
Eel: QAHESA LR

(s de

BB C(BH) - HFANY - BES Oty Hasz
DIZINSSHAAE BSH XR(2D) 5,500 4,300 1,200
= 5,500 4,300 1,200

201 Y2 2,200 1,000 1,200

= 2,200 1,000 1,200

01 At222IHl 2,200 1,000 1,200
ODIAHALAR HHISE Y EES HE 2,200 1,000 1,200

= 2,200 1,000 1,200

WILY=zY 2= - 2% (231) 487,500 585,000 A97,500
= 487,500 585,000 297,500

403 RtXISHS K20l H 487,500 585,000 A97,500

= 487,500 585,000 297,500

01 REXISHH RH=2E X 487,500 585,000 A97,500
OUIIREEHY P& - 29 487,500 585,000 A97,500

= 487,500 585,000 £97,500

MESY WL (BAES/HIIS) 33,161,487 37,411,487 24,250,000
= 22,662,200 26,162,200 3,500,000

[ 10,499,287 11,249,287 A750,000

oIS ANLEs 27,060,500 31,310,500 24,250,000
= 18,267,000 21,767,000 3,500,000

[ 8,793,500 9,543,500 A750,000

SIISHKRALI0I2ItAS AL (2 D) 0 4,250,000 24,250,000
= 0 3,500,000 3,500,000

[ 0 750,000 A750,000

403 RIXISHSK=01™ 0 4,250,000 24,250,000

= 0 3,500,000 A3,500,000

[ 0 750,000 A750,000

01 RtXISHH A=2E X 0 4,250,000 24,250,000
O|IIEHXIRH0I2ItA S A 0 4,250,000 24,250,000

= 0 3,500,000 3,500,000

= 0 750,000 AT50,000

TolSASH(BALSS/TH) 12,748,940 12,637,050 111,890
=2 7,187,000 7,067,000 120,000

Xl 2,130,000 2,130,000 0

[ 3,431,940 3,440,050 28,110

Toigtd B8 Y AlS &= 8,762,690 8,650,800 111,890
= 4,676,000 4,556,000 120,000

X 2,130,000 2,130,000 0

[ 1,956,690 1,964,800 8,110

MEHDIE EAESH KR (2D) 120,000 0 120,000
= 120,000 0 120,000

308 RtXISHH SOl 120,000 0 120,000

= 120,000 0 120,000

01 HXISHBNEES 120,000 0 120,000
OXIIME) 402 XIR (4HA) 120,000 0 120,000
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=
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g
THSAEH (BHAES/XHS)
oHed 28 2 Al &5

o

| SA-IH-EREN) - ARAY B2 | oew | JjFwe
MEIZABEXNE EH0ISAE XM EX Y 31,890 40,000 28,110
401 AlEHI L2 CHYI 31,890 40,000 A8,110
01 Al&HI 31,890 40,000 28,110
OMHIAEEXNNE BHOIEANL EX LY 31,890 40,000 28,110
BETRH(SYBS/H) 822,803 902,701 A79,898
=2 BIFEHY izl 820, 102 900,000 AT79,898
2018 HEEH 820, 102 900,000 AT9,898
201 B2 820, 102 900,000 AT79,898
03 A2l 820, 102 900,000 AT79,898
02018 BEZEH 820, 102 900,000 A79,898
NRgs(sdl)(s8Z2s/8gd25dst) 744 744
BHXE 744 0 744
EBEER ZNEXZ BHE 744 0 744
802 BHEt= DI E 744 0 744
01 3 NBX3BES 744 0 744
©'16d N&E3d 2EXA 744 0 744
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